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Bobbles

S10665

Design: Quail Studio

V.1/BW/MD

Knit

Easy 2

SIZE
Width: approx. 45 cm
Height: approx. 45 cm

MATERIALS
Schachenmayr Catania Grande, 50 g ball
approx. 50 g = 63 m
Col. 03105 (natur)   9 balls 
Yarn amounts are approximate. Make sure to purchase 
enough of the sam dye lot in order to complete your project. 
The colour names refer to the German names on the sleeves.
The amount of yarn needed can vary from person to per-
son.

Size 5.0 mm needles
1 tapestry needle for weaving in ends
1 pillow, size approx. 45 x 45 cm

GAUGE:
Stockinette stitch: 
14 sts and 18 rows = 10 x 10 cm
Bobble stitch pattern:
14 sts and 18 rows = 10 x 10 cm

BASIC PATTERN
Stockinette stitch: 
RS: knit all st, WS: purl all st.

Bobble stitch pattern: Work according to the pattern chart. 
Only RS rows are shown on the chart; for the WS rows, purl 
all st. Repeat rows 1 through 16 for pattern.

INSTRUCTIONS
Front
Cast on 65 st and purl 1 R (WS). 
Continue working in the bobble pattern according to the 
chart. 
After the selvage st, work the 11 st before the pattern repeat, 
work the 20-st repeat once, then work the 12 st after the 
pattern repeat, selvage st.
Repeat rows 1-16 a total of 5x.
In the following RS row, bind off all st knitwise.
Total length = approx. 45 cm.

Back
Cast on 65 st and purl 1 R (WS). 
Continue working in stockinette stitch.
When the piece measures 45 cm long, bind off all st.

Chart

Key

 = selvage st

= RS: knit; WS: purl

 = 1 bobble = in the following st, knit into the same st 
5x: k1, k1 st through the back loop, k1, k1 st through the 
back loop, k1. * Move these 5 st back onto the left 
needle, k5, repeat from * 2x more. Then one at a time, 
pass the 2nd, 3rd, 4th and 5th st over the 1st st. 

ABBREVATIONS: 
k = knit
p = purl
RS = right side
st(s)  = stitch(es)
WS = wrong side

repeat = 20 sts


